
 

 

 
 
 

Bone-Cutter 

 
 

Parts ID Manual 
 

Model Number: BC-100/A 
 

Revision: C



Rev. C, March 2025 

Bone-Cutter Parts ID Manual                                                                                                                              Page ii 

 
 
 
 

© Copyright 2025 by DEMTECH Services, Inc. 
 

All Rights Reserved 
 

Scope of Manual: 
 

This manual contains procedures for safety, general unpacking, 
set-up, and operation of your DEMTECH Services, Inc. Bone-Cutter. 

 
The text of this publication, or any part thereof, may not be reproduced or transmitted in any 
form or by any means, electronic or mechanical, including photocopying, recording, storage in 
an information retrieval system, or otherwise, without prior written permission of DEMTECH 
Services, Inc. 
 

Notice 
 
Patents have been granted and/or patent applications are pending or are in the process of 
preparation on all DEMTECH Services, Inc. developments. 
 
The material in the manual is for informational purposes only and is subject to change without 
notice. 
 
DEMTECH Services, Inc. assumes no responsibility for any errors that may appear in this 
manual. 
 

 
 
 

Manual Number: BC-PARTS ID MANUAL, Revision: C 
 

DEMTECH Services, Inc. 
6414 Capitol Avenue Diamond Springs, CA 95619 U.S.A. 

Telephone: (530) 621-3200 
Toll Free: (888) 324-9353 

Fax: (530) 621-0150 
Web Site: www.demtech.com  



Rev. C, March 2025 

Bone-Cutter Parts ID Manual                                                                                                                              Page iii 

 

TABLE	OF	CONTENTS	

1  ORDER INSTRUCTIONS………………………………………………….PAGE 1 

1.1  BC-100/A – ASSY, BONE-CUTTER (Parts ID)……………………………………………….Page 2 

1.2  BC-100/A – ASSY, BONE-CUTTER (Parts List)……………………………………………...Page 3 

 



Rev. C, March 2025 

Bone-Cutter Parts ID Manual                                                                                                                     Page 1 

 
 

1 Order Instructions 
 

Refer to the diagrams and related parts lists on the following pages to identify replacement 
parts for the Bone-Cutter.  To locate a part, find it visually on the exploded assembly diagram 
and note its Reference Number. Next refer to the assembly’s parts list to identify the 
corresponding Inventory ID using the Reference Number.  When ordering parts, be sure to 
specify the INVENTORY ID number, not the Reference Number. ‘NS-Hardware’ refers to 
non-stock items, these parts are still available for order, please provide the part description to 
order NS-Hardware items. 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Ref. # (This is not an Inventory ID) 

# of Components in Assembly 



Rev. C, March 2025 

Bone-Cutter Parts ID Manual                                                                                                                     Page 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1.1 BC-100/A – ASSY, BONE-CUTTER (Parts ID) 



Rev. B, June 2023 

Bone-Cutter Parts ID Manual                                                                                                                     Page 3 

 
*For older bone cutters, call DemTech Service and Repairs for verification* 

 
 

1.2 BC-100/A – ASSY, BONE-CUTTER (Parts List) 

PARTS LIST 
ITEM NO INVENTORY ID  [ALTERNATE‐ID] DESCRIPTION  QTY 

1 BC‐72097  [BC‐002] Base, Bone‐Cutter  1 

2 BC‐72100  [BC‐003] Leg, Extendable Handle  1 

3 BC‐72103  [BC‐004] Nut, Blade Standoff  1 

4 BC‐72105  [BC‐005] Screw, Blade Standoff  1 

5 BC‐72107  [BC‐006] Standoff, Blade Insert, Left  1 

6 BC‐72109  [BC‐007] Standoff, Blade Insert, Right  1 

7 BC‐72111  [BC‐008] Blade, Bone‐Cutter, Insert  2 

8 BC‐72113  [BC‐009A] Holder, Ram Insert, Pivot (2 piece)  1 

9 BC‐72115  [BC‐009B] Mount, Ram Insert, Handle (2 piece)  1 

10 BC‐72118  [BC‐010] Ram, Bone‐Cutter, Insert  1 

11 BC‐72120  [BC‐011A] Handle, Ram Pivot Holder, Coarse ( Male, Female Ends )  1 

12 BC‐72123  [BC‐012A] Handle, Extension, Coarse ( Male End )  1 

13 BC‐72125  [BC‐013] Bracket, Seam Sample, Guide  1 

14 BC‐72127  [BC‐014] Tray, Sample Strip, Guide  2 

15 BC‐72128  [BC‐015] Lock Pin, Spring, Extendable Handle  1 

16 BC‐72129  [BC‐016] Shaft, Ram Insert, Pivot  1 

17 BC‐72131  [BC‐017] Cover, Bone‐Cutter, Outside, Complete w/Powder Coating  1 

18 BC‐72135  [BC‐018] Plunger, Ball  2 

19 BC‐72136  [BC‐019] Button, Spring Plunger, Detent  2 

20 BC‐72137  [BC‐020] Bearing, Needle Roller  2 

21 BC‐72138  [BC‐022] Pin, Dowel, Travel Limit  1 

22 BC‐72141  [BC‐025] Protective Cover, Adjustment Nut, Handle Bumper  1 

23 DT‐72336  [Label‐DemTech] Label ‐ DemTech Logo, Black w/Red "T"  2 

24 NS‐HARDWARE  SCREW, M8 X 1.25 X 20mm LONG, SOCKET HEAD CAP, 18‐8 STAINLESS STEEL  9 

25 NS‐HARDWARE  NUT, 3/8"‐16 HEX, THIN‐PROFILE, 18‐8 STAINLESS STEEL  1 

26 NS‐HARDWARE  SCREW, SET, M8 X 1.25 X 10mm LONG, ALLEN SOCKET CUP POINT, 18‐8 STAINLESS STEEL  1 

27 NS‐HARDWARE  SCREW, M6 X 1 X 10mm LONG, BUTTON HEAD CAP, 18‐8 STAINLESS STEEL  2 

28 NS‐HARDWARE  SCREW, M6 X 1 X 8mm LONG, BUTTON HEAD SOCKET CAP, 18‐8 STAINLESS STEEL  4 

*28* *BC‐017‐CS*  *SCREW, M6 X 1 X 5mm LONG, BUTTON HEAD SOCKET CAP, 18‐8 STAINLESS STEEL*  4 

29 NS‐HARDWARE  SCREW, M3 X 0.5 X 10mm LONG, FLAT HEAD SOCKET CAP, 18‐8 STAINLESS STEEL  12 

30 NS‐HARDWARE  SCREW, M8 X 1.25 X 20mm LONG, FLAT HEAD SOCKET CAP, 18‐8 STAINLESS STEEL   2 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


